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T 15,248,900 8,367,637 6,881,263
2ot 724,482 714,320 10,162
Al 39,541 39,541 0
- 684,941 674,779 10,162
S dat 221,995 207,365 14,630
=89 Jl8e 2 g8 102,090 87,650 14,440
gr2 & | 100,475 85,950 14,525
f2eldl 97,625 82,950 14,675
TEEE g4 WA 18,000, 000& 18,000 0 18,000
*EEEMT A 19,800,000 19,800 21,750 A 1,950
AT W Z& 9,200,000 9,200 10,000 A 800
s2d4ds =3 NH 4 4,650,000 4,650 5,000 A 350
2ASLRED & EIUHHIAE MH
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O E7CI22&8 S0/ M
1,425,000 1,425 1,500 AT5
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NEZH S (SAI, BFHE S)
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S =&l 1,615 1,700 A 85
=X PP = 1,615 1,700 A85
O REI8 gR=2 2 & 1,615,000& 1,615 1,700 A 85
= o XHAM B Ot 17,940 17,340 600
2| 7,600 7,000 600
AFE 22l | 7,600 7,000 600
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2o 5t 99,400 99,675 N 275
S =&l 1,000 1,275 N 275
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O =dus L= Z & 1,000,000& 1,000 1,275 A 275
gqe =4 2,565 2,700 A 135
g2l 950 1,000 A50
AFS 2t el 950 1,000 AB0
HEARZ AL Rtz Q14 Z & 950,000& 950 1,000 A50
S =2l 1,615 1,700 A 85
ME=XH P = 1,615 1,700 A85
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03 Al =R Q=X 950 1,000 A50
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SN OIHT AL
HE: a2y
el AW HFSY CERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
SN ZEZH X 199,525 141,525 58,000
201 Yer2 | 75,025 50,025 25,000
01 AFR 22| H] 73,025 48,025 25,000
O AVSBAE L HALY(RHIE)
A 55,025,0008 55,025 30,025 25,000
202 04t 99,500 76,500 23,000
01 =LK o1l 99,500 76,500 23,000
O T2 EZOH(LNBE)
A 99,500,0008 99,500 76,500 23,000
405 Tt &HE St 25,000 15,000 10,000
01 T 2B S 25,000 15,000 10,000
O SB3SH(RHN2S) 2T 25,000,008 25,000 15,000 0,000
SANE 42,196 20,476 21,720
Al 21,720 0 21,720
2 20,476 20,476 0
7Y TR AYEX 42,196 20,476 21,720
Al 21,720 0 21,720
o 20,476 20,476 0
#=0t2 2rS))| 36,06 14,376 21,720
Al 21,720 0 21,720
- 14,376 14,376 0
201 Yer2 | 27,796 14,376 13,420
Al 13,420 0 13,420
- 14,376 14,376 0
01 AFR 22l t] 17,420 4,000 13,420
O [¢g] HRUEIELs Z20 29
2,700,000% 2,700 0 2,700
Al 2,700 0 2,700
O [g2] 0is2sS) 22 5,000,0002 5,000 0 5,000
Al 5,000 0 5,000
O [B&0]] BSHYT 2CHDA 2Y
720,000& 720 0 720
Al 720 0 720
O [E&0] IS 2SI g 5,000, 0002 5,000 0 5,000
Al 5,000 0 5,000
206 TH 2 bl 8,300 0 8,300
Al 8,300 0 8,300
01 T2 bl 8,300 0 8,300
O [2g] g#=2+4g 29 4,000,000 4,000 0 4,000
Al 4,000 0 4,000
O [#20]] S2H I 4204 29
2,500,000& 2,500 0 2,500
Al 2,500 0 2,500
O [B40]] BSHYT 2CHDA 2Y
1,800,0002! 1,800 0 1,800
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SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
| | | Al 1,800 0 1,800
Egds 26,000 0 26,000
UNE St 2t EF 243t 26,000 0 26,000
HOAZTE JIEHe =4 26,000 0 26,000
401 Al HI K 201 I 26,000 0 26,000
01 A& HI 26,000 0 26,000
O SAEdIIEHe =4(139 sSgu=2=2 M
£ 26,000,000& 26,000 0 26,000
& 2te| 5,495,577 2,338,334 3,157,243
ol gl bl 5,495,577 2,338,334 3,157,243
ol Bl Bl 5,495,577 2,338,334 3,157,243
801 Ol 8l 5,495,577 2,338,334 3,157,243
01 Btoldltl 5,495,577 2,338,334 3,157,243
O LBt oldlbl 2 & 5,495,577,000& 5,495,577 2,338,334 3,157,243
HY2HIH (D2 AY) 127,028 95,028 32,000
Jl2Z I (J1&2HALA!) 127,028 95,028 32,000
Jl2d8l (0122 At4) 127,028 95,028 32,000
202 (44l 82,600 69,600 13,000
01 SLHOIYI 82,600 69,600 13,000
OJl=g!® =8 s¥0H JF 82,600,000& 82,600 69,600 13,000
405 TtabH S| 19,000 0 19,000
01 HatH ESFH S 19,000 0 19,000
O = A 4,000,000 = 1CH 4,000 0 4,000
O Zd A 15,000,000 = 1CH 15,000 0 15,000
MEES(IIE2AA) 8,633,680 5,035,622 3,598,058
SEXE(DIEZAA) 8,633,680 5,035,622 3,598,058
BEXE (22 AA) 8,633,680 5,035,622 3,598,058
802 Btet= DI Et 3,598,058 0 3,598,058
01 I DEBXStHE= 1,383,503 0 1,383,503
O Z3HsH 1,012 0 1,012
- MY MEMSXNZX HHX 1,012,000& 1,012 0 1,012
O =0IX& 55,259 0 55,259
-22=2XX& 9,151,000& 9,151 0 9,151
- Ot s A BSHAY
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- NYHeEE 2™ At 32,213,000 32,213 0 32,213
- RNESA 2435 N (AH2Y24])
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- BREIIE 25 ¥ SREIE =2XAL
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1,917,00084 1,917 0 1,917
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- DSS0(LB LS 105,659, 0002 105,659 0 105,659
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- HES0 e SOS BRI X
6,291,000 6,291 0 6,291
- te2e 90, 138,0002 90,138 0 90,138
- HEASSH 5,137,000 5,137 0 5,137
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7,011,000
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910,000&
978,000&
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A&) X 24,0008
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